Duration of current flow I (ms) (3,8 Ve B0 3 oludl 0x gl OL = see J3T

35
A
A B C, C, G
10 000 L e
- [ # 1
5 000 p 1 :
| X
. i
2 000 . ;
- \ i
1000 3 N :
500 - \\ ;
1
AC-1 | Ac-2 \! . Ac-a
200 = * ‘S
| :\ 3 s
100 - s A
B 1 \ - i
1
50 1 HE AN s
= : \ # |
20 i i h § | '. Body current
. : N I . I (MA)
10 ? ! \ — -
0.1 02 05 1 2 5 10 20 50 100 200 500 I 2 000 10 000
1 000 5 000

Threshold = 30 mA

3140 dee miSTly i AC-1
) 385 S99 s 9T 0L S sele b #l s 1 AC-2
b Ol 35 Sk b ISl g Suis 5 JISE - SMiae Gebail Ol ¢ AC-3
S50 sele b sa T 1 AC-4

1O U ald Ogawdl b 395 Ol 1 AC-4.1

70 G ks Ogaudls yaad 39 52 OISal 1 AC4.2

L0 3 s o9 Dol i 9 0 O 1 AC-4.3



o540

vlod

L 24

L 2 4

If

PE

llllllll Allllll-l m

m

l................:‘..-.







g/ i
gl (0 (KNS G g0 o SIS LU I S el




s/ piasns




w80 ooi &) ol JOCD] o j 0 JlaTT ds) T e

Gy i [39) j20)




ABO of g (N (5 s T pg) ] gt 0l g0 j (g0 ol b




A as SCES G ylo patkid codiiid (o j 40 g0 (50l ol b

(035 (0 g0 jU6 90 Uy b 8,5 50 50 dw it 40)

ooy Juasl oyl




g/ i

S jgu (0 jad 4o ol &y90 0 o j Jlail 050




Ky g1/

Cew/ ol ko (o j U i ] dadi SO
WipF (0 oot (yno SUa5US 30 Hil & 55 (g 3y (K185 gy e bS50 iy b i)
(990 G0 2RS4 ymlo




Sy g/

VXY Sl yo (K85 G50 j] s3SIt o 4 v JLai))

Sl 820 Jhase ey 40 }'-‘"[0'-"'*-"'";‘]4%&5‘ ldian pogdle







TN-S ateo

PE







17_3N




IT Ao

— N Z




JJLESJSJAS

l..ll’:.l.......l-

o4

»

TN

If




TN abescsias )3 Uad Jalas

If

l.lll’:.l'll’..ll.

iz}
= (0N =

EEER
2
m
[
=

>’---.-I---




Insulation
monitoring
device
(IMD)

Surge
limiter




Permanent
insulation
monitor
(PIM)

Surge
limiter




(CT) oA oA

I;=I,/n

n turns

Magnetic
circuit










J@ 4w RCD s

0 \8 b

A\ -

Tk

NI 21 41 6




RCD 28 ) Lad | gue 0 5ad




4w RCD 1S b jlae culilia

PE L1 L2 L3 N
I
B —-—
T
TR s T e
s |
Dy
N
WS
A|A=|p
e




-~ -
- -
- - - —-— -

;d-‘ " mas |

A D

i %
Ud—li ‘!

UL = 50y
I4.RagUL




TN-C adeui JJ RCDAJS ) salaia




